
Math 1115, Quiz #3, Spring 2013 Name

Instructions: Show all work. Be sure to afl,s.yglillft{Fgf each question.

7. Consider the weighted voting system given by [q: 18, 12,1:0,7; $,5,3, L, t ,  Ll.
a. How many players are in this voting system?

b .Wha t i s themin imumposs ib |eva |ueo f thequo ta fo r th i ssys tem?

3z-
c. What is the largest possible value for the quota for this system?

bs
d. What would the value of the q uota be in 2/3 of the tota I weighted votes a re needed to pass

a measure?

e, For the value of g=38, are there any dummies? Dictators?

ofu) dl.r[*1*-L".t t ,/,tr,o dru,r mu-pn

Itard^A* 
'fl\o- ea,a-Lrkn, L?t,

f. For the value of q=33, does anyone have veto power?
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g. List three winning coalit ions. 
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